# NOTE

# Inequalities for the Crank

A. Bülent Ekin

Ondokuz Mayis Üniversitesi, Fen-Ed. Fakültesi, Matematik Bölümü, Samsun, Turkey Communicated by George Andrews

Received December 18, 1997

Garvan first defined certain "vector partitions" and assigned to each such partition a "rank." Denoting by  $N_V(r, m, n)$  the (weighted) count of the vector partitions of *n* with rank *r* modulo *m*, he gave a number of relations between the numbers  $N_V(r, m, mn + k)$  when m = 5, 7 and 11,  $0 \le r$ , k < m. The true crank whose existence was conjectured by Dyson was discovered by Andrews and Garvan who also showed that  $N_V(r, m, n) = M(r, m, n)$  unless n = 1, where M(r, m, n) denotes the number of partitions of *n* whose cranks are congruent to *r* module *m*. In the case of module 11, a simpler form of Garvan's results have been found by Hirschhorn. In fact, the Hirschhorn result was derived using Winquist's identity, but the details were omitted. In this work, from the simpler form we deduce some new inequalities between the M(r, 11, 11n + k)'s and give the details of Hirschhorn's result. We also prove some conjectures of Garvan in the case of module 7. @ 1998 Academic Press

### 1. INTRODUCTION

First, we introduce some standard notations

$$(z; q)_{\infty} = \prod_{n=1}^{\infty} (1 - zq^{n-1}),$$

$$[z; q]_{\infty} = (z; q)_{\infty} (z^{-1}q; q)_{\infty}, \qquad |q| < 1.$$
(1)

Note that

$$-z[zq;q]_{\infty} = -z[z^{-1};q]_{\infty} = [z;q]_{\infty} = [z^{-1}q;q]_{\infty}.$$
 (2)

For simplicity, we also write, as in [G1],

$$P(a) := [y^{a}; y^{11}]_{\infty} (y^{11}; y^{11})_{\infty}, \qquad 1 \le a < 11$$
(3)

$$P(0) := (y^{11}; y^{11})_{\infty} \tag{4}$$

$$Q(b) := [y^b; y^{33}]_{\infty} (y^{33}; y^{33})_{\infty}, \qquad 1 \le b < 33.$$
(5)

283

0097-3165/98 \$25.00

Copyright © 1998 by Academic Press All rights of reproduction in any form reserved. The variables y and q are always related by  $y = q^{11}$ . From (2), we have

$$P(11-a) = P(a), \qquad P(11+a) = -y^a P(a)$$

$$Q(33-a) = Q(a), \qquad Q(33+a) = -y^a P(a)$$
(6)

which we shall use without explicit mention below. We have [G1]

$$\sum_{k=0}^{t-1} \zeta^k \sum_{n=0}^{\infty} M(k, t, n) q^n = \frac{(q; q)_{\infty}}{(\zeta q; q)_{\infty} (\zeta^{-1} q; q)_{\infty}},$$
(7)

where t is a prime and  $\zeta = \exp(2\pi i/t)$ . The main problem is to express the right-hand side of (7) as a polynomial in q of degree t-1 whose coefficients are power series in  $y = q^t$ . When t = 5, 7 and 11, the expressions were given in [G1].

Considering the obvious relation

$$(y; y)_{\infty} = P(0) P(1) P(2) P(3) P(4) P(5),$$
(8)

Hirschhorn's identity [H] can be stated as follows

$$\frac{(q;q)_{\infty}}{(\zeta q;q)_{\infty} (\zeta^{-1}q;q)_{\infty}} = \frac{P(0)}{P(1)} + (\zeta + \zeta^{-1} - 1) \frac{P(5) P(0)}{P(2) P(3)} q + (\zeta^{2} + \zeta^{-2}) \frac{P(3) P(0)}{P(1) P(4)} q^{2} + (\zeta^{3} + \zeta^{-3} - 1) \frac{P(2) P(0)}{P(1) P(3)} q^{3} + (\zeta^{4} + \zeta^{-4} + \zeta^{2} + \zeta^{-2} + 1) \frac{P(0)}{P(2)} q^{4} - (\zeta^{4} + \zeta^{-4} + \zeta^{2} + \zeta^{-2}) \frac{P(4) P(0)}{P(2) P(5)} q^{5} + (\zeta^{4} + \zeta^{-4} + \zeta + \zeta^{-1}) \frac{P(0)}{P(3)} q^{7} + (\zeta^{4} + \zeta^{-4} + \zeta^{3} + \zeta^{-3} + \zeta + \zeta^{-1}) \frac{P(1) P(0)}{P(4) P(5)} yq^{8} - (\zeta^{4} + \zeta^{-4} + 1) \frac{P(0)}{P(4)} q^{9} - (\zeta^{3} + \zeta^{-3}) \frac{P(0)}{P(5)} q^{10}.$$
(9)

In the next section, we show how (9) can be derived from Winquist's identity. We write, as in [G1],

$$R_{ij}(k) := \sum_{n \ge 0} \left( M(i, 11, 11n + k) - M(j, 11, 11n + k) \right) q^n.$$
(10)

NOTE

By using arguments analogous to that of Section 4 in [G1], (9) allows calculation of the  $R_{ij}(k)$ 

Theorem 1.

$$R_{01}(0) = \frac{(q^{11}; q^{11})_{\infty}}{[q; q^{11}]_{\infty}}$$
(11)

$$-\frac{1}{2}R_{01}(1) = R_{12}(1) = \frac{[q^5; q^{11}]_{\infty} (q^{11}; q^{11})_{\infty}}{[q^2; q^{11}]_{\infty} [q^3; q^{11}]_{\infty}}$$
(12)

$$R_{12}(2) = -R_{23}(2) = -\frac{\left[q^3; q^{11}\right]_{\infty} (q^{11}; q^{11})_{\infty}}{\left[q; q^{11}\right]_{\infty} \left[q^4; q^{11}\right]_{\infty}}$$
(13)

$$R_{01}(3) = -R_{23}(3) = R_{34}(3) = \frac{\left[q^2; q^{11}\right]_{\infty} (q^{11}; q^{11})_{\infty}}{\left[q; q^{11}\right]_{\infty} \left[q^3; q^{11}\right]_{\infty}}$$
(14)

$$R_{01}(4) = -R_{12}(4) = R_{23}(4) = -R_{34}(4) = R_{45}(4)$$
$$= \frac{(q^{11}; q^{11})_{\infty}}{[q^2; q^{11}]_{\infty}}$$
(15)

$$R_{12}(5) = -R_{23}(5) = R_{34}(5) = -R_{45}(5)$$
$$= \frac{[q^4; q^{11}]_{\infty} (q^{11}; q^{11})_{\infty}}{[q^2; q^{11}]_{\infty} [q^5; q^{11}]_{\infty}}$$
(16)

$$R_{01}(7) = -R_{12}(7) = R_{34}(7) = -R_{45}(7) = -\frac{(q^{11}; q^{11})_{\infty}}{[q^3; q^{11}]_{\infty}}$$
(17)

$$R_{01}(8) = -R_{12}(8) = R_{23}(8) = -R_{45}(8)$$
$$= -q \frac{[q; q^{11}]_{\infty} (q^{11}; q^{11})_{\infty}}{[q^4; q^{11}]_{\infty} [q^5; q^{11}]_{\infty}}$$
(18)

$$R_{01}(9) = -R_{34}(9) = R_{45}(9) = -\frac{(q^{11}; q^{11})_{\infty}}{[q^4; q^{11}]_{\infty}}$$
(19)

$$R_{23}(10) = -R_{34}(10) = \frac{(q^{11}; q^{11})_{\infty}}{[q^5; q^{11}]_{\infty}}$$
(20)

and all other  $R_{b, b+1}(d)$ ,  $0 \leq b \leq 4$ , are zero.

This is the simpler form of Theorem (6.7) of [G1]. We prove the following inequalities, for  $n \ge 0$ ,

#### NOTE

$$M(0, 11, 11n) \ge M(1, 11, 11n) \tag{21}$$

$$M(1, 11, 11n+1) \ge M(0, 11, 11n+1)$$
(22)

$$M(0, 11, 11n+3) \ge M(1, 11, 11n+3)$$
(23)

$$M(0, 11, 11n+4) \ge M(1, 11, 11n+4)$$
(24)

$$M(1, 11, 11n + 5) \ge M(2, 11, 11n + 5)$$
(25)

$$M(1, 11, 11n + 7) \ge M(0, 11, 11n + 7)$$
(26)

$$M(0, 11, 11n+9) \ge M(1, 11, 11n+9)$$
(27)

$$M(2, 11, 11n + 10) \ge M(3, 11, 11, +10)$$
(28)

$$M(0, 7, 7n) \ge M(1, 7, 7n) \tag{29}$$

$$M(2, 7, 7n+2) \ge M(1, 7, 7n+2) \tag{30}$$

(29) and (30) are conjectures of Garvan, [G1]

# 2. THE HIRSCHHORN'S RESULT

Our method is completely analogous to that of Garvan [G1]. We need the Jacobi's triple product identity (Thm. 2.8 in [A])

$$[z;q]_{\infty}(q;q)_{\infty} = \sum_{m=-\infty}^{\infty} (-1)^m z^m q^{m(m-1)/2}.$$
 (31)

Setting m = 11n + t,  $-5 \le t \le 5$  in (31), we find

$$[s;q]_{\infty}(q,q)_{\infty} = \sum_{t=-5}^{5} (-1)^{t} z^{t} q^{t(t-1)/2} [z^{11}y^{5+t}; y^{11}]_{\infty} (y^{11}; y^{11})_{\infty}.$$
 (32)

From (32) with the help of (6), we find

$$\begin{split} [\zeta; q^{3}]_{\infty} (q^{3}; q^{3})_{\infty} \\ &= (1 - \zeta) Q(15) + (\zeta^{2} - \zeta^{-1}) Q(12) q^{3} + (\zeta^{4} - \zeta^{-3}) Q(6) yq^{7} \\ &+ (\zeta^{-4} - \zeta^{5}) Q(3) y^{2}q^{8} + (\zeta^{-2} - \zeta^{3}) Q(9) q^{9} \end{split}$$
(33)

$$\begin{split} [\zeta q; q^{3}]_{\infty} (q^{3}; q^{3})_{\infty} \\ &= (Q(16) + \zeta^{4} y^{2} Q(5)) - \zeta(Q(14) + \zeta^{2} y Q(8)) q \\ &- \zeta^{-1}(Q(13) + \zeta^{6} y^{3} Q(2)) q^{2} - \zeta^{-3} y(Q(7) - \zeta^{-1} y Q(4)) q^{4} \\ &+ \zeta^{2} P(0) q^{5} + \zeta^{-2}(Q(10) - \zeta^{-3} y^{3} Q(1)) q^{7}. \end{split}$$
(34)

Winquist's identity [W, Thm. 1] can be written as

$$[a;q]_{\infty} [b;q]_{\infty} [ab;q]_{\infty} [ab^{-1};q]_{\infty} (q;q)^{2}_{\infty}$$
  
=  $[a^{3};q^{3}]_{\infty} (q^{3};q^{3})^{2}_{\infty} \{ [b^{3}q;q^{3}]_{\infty} - b[b^{3}q^{2};q^{3}]_{\infty} \}$   
-  $ab^{-1}[b^{3};q^{3}]_{\infty} (q^{3};q^{3})^{2}_{\infty} \{ [a^{3}q;q^{3}]_{\infty} - a[a^{3}q^{2};q^{3}]_{\infty} \}.$  (35)

If we take  $(y^m, y^n, y^{11})$  for (a, b, q) in (35), we have

$$P(m) P(n) P(m+n) P(m-n) P(0)^{2}$$
  
=  $Q(3m)(Q(3n+11) - y^{n}Q(3n+22))$   
 $- y^{m-n}Q(3n)(Q(3m+11) - y^{m}Q(3m+22)).$  (36)

Taking  $a = \zeta^9$  and  $b = \zeta^5$  in (35), Garvan [G1] finds

$$\frac{(q; q)_{\infty}}{(\zeta q; q)_{\infty} (\zeta^{-1}q; q)_{\infty}} = (1 - \zeta^{3})^{-1} (1 - \zeta^{4})^{-1} (1 - \zeta^{5})^{-1} (1 - \zeta^{9})^{-1} (y; y)_{\infty}^{-1} \\
\times \{ [\zeta^{5}; q^{3}]_{\infty} ([\zeta^{4}q; q^{3}]_{\infty} - \zeta^{5} [\zeta^{7}q; q^{3}]_{\infty}) \\
- \zeta^{5} [\zeta^{4}; q^{3}]_{\infty} ([\zeta^{5}q; q^{3}]_{\infty} - \zeta^{9} [\zeta^{6}q; q^{3}]_{\infty}) \} (q^{3}; q^{3})_{\infty}^{2}. \quad (37)$$

By using (33) and (34) together with the replacements, in (36), (m, n) = (5, 2), (5, 1), (5, 3), (4, 2), (4, 1), (4, 3), (5, 4), (2, 1), (3, 2) and (3, 1) respectively, and considering (8), we find, after some simplification, that the right-hand side of (33) reduces to the right-hand side of (9).

# 3. INEQUALITIES

By using Jacobi's triple product, we find

$$\frac{(q;q)_{\infty}}{[z;q]_{\infty}} = \frac{[-z;q]_{\infty}(q;q)_{\infty}}{[z^2;q^2]_{\infty}} = \frac{1}{[z^2;q^2]_{\infty}} \sum_{n=-\infty}^{\infty} z^n q^{n(n-1)/2}.$$
 (38)

Now, taking  $z = q^a$  and  $q^{11}$  for q in (38), we see that

$$\frac{(q^{11}; q^{11})_{\infty}}{[q^a; q^{11}]_{\infty}}$$
(39)

has nonnegative coefficients in q. The equation (5.7) of [G2] also shows that (39) has nonnegative coefficients in q.

For the rest of the inequalities, we need the quintuple product identity [Go]

$$[-z;q]_{\infty} [z^{2}q;q]_{\infty} (q;q)_{\infty} = \{ [z^{3}q;q^{3}]_{\infty} + z[z^{3}q^{2};q^{3}]_{\infty} \} (q^{3};q^{3})_{\infty}.$$
(40)

If we use the obvious relations

$$[-z;q]_{\infty} [z;q]_{\infty} = [z^{2};q^{2}]_{\infty}, \qquad [z^{2};q^{2}]_{\infty} [z^{2}q;q^{2}]_{\infty} = [z^{2};q]_{\infty}$$
$$[z^{3};q]_{\infty} = [z^{3}q;q^{3}]_{\infty} [z^{3};q^{3}]_{\infty} [z^{-3}q;q^{3}]_{\infty} \qquad (41)$$
$$= [z^{3}q^{2};q^{3}]_{\infty} [z^{3};q^{3}]_{\infty} [z^{-3}q^{2};q^{3}]_{\infty}$$

from (40), we have

$$\frac{[z^2; q]_{\infty} (q; q)_{\infty}}{[z; q]_{\infty} [z^3; q]_{\infty}} = \frac{(q^3; q^3)_{\infty}}{[z^3; q^3]_{\infty} [z^{-3}q; q^3]_{\infty}} + z \frac{(q^3; q^3)_{\infty}}{[z^3; q^3]_{\infty} [z^{-3}q^2; q^3]_{\infty}}.$$
(42)

From this we see that

$$\frac{[q^{2a}; q^{11}]_{\infty} (q^{11}; q^{11})_{\infty}}{[q^{a}; q^{11}]_{\infty} [q^{3a}; q^{11}]_{\infty}}$$
(43)

has nonnegative coefficients in q for the values a = 1, 2, 3. We also conjecture that the same holds for a = 4 and a = 5 (except one).

In the case of modulo 7, we have from Theorem 5.4) of [G1]

$$R_{01}(0) = \frac{[q^3; q^7]_{\infty} (q^7; q^7)_{\infty}}{[q; q^7]_{\infty} [q^2; q^7]_{\infty}}$$
(44)

$$R_{12}(2) = -R_{23}(2) = -\frac{[q^2; q^7]_{\infty} (q^7; q^7)_{\infty}}{[q; q^7]_{\infty} [q^3; q^7]_{\infty}}.$$
(45)

(42) also states that

$$\frac{[q^{2a}; q^7]_{\infty} (q^7; q^7)_{\infty}}{[q^a; q^7]_{\infty} [q^{3a}; q^7]_{\infty}}$$
(46)

has nonnegative coefficients in q for the values a = 1, 2.

#### ACKNOWLEDGMENT

I thank the referee for the proof of (42) and many helpful suggestions for revision.

### REFERENCES

- [A] G. E. Andrews, "The Theory of Partitions," Encyclopedia of Mathematics, Addison-Wesley, New York, 1976.
- [G1] F. G. Garvan, New combinatorial interpretations of Ramanujan's partition congruences mod 5, 7 and 11, *Trans. Amer. Math. Soc.* 305 (1988), 47–77.
- [G2] F. G. Garvan, New combinatorial interpretations of Ramanujan's partition congruences, in "Ramanujan Revisited: Proc. of The Centenary Conferans, Univ. of Illinois at Urbana-Champaign, June 1–5, 1987," Academic Press, San Diego, 1988.
- [Go] B. Gordon, Some identities in combinatorial analysis, *Quart. J. Math. Oxford* 12, No. 2 (1961), 285–290.
- [H] M. D. Hirschhorn, A birthday present for Ramanujan, Amer. Math. Monthly 97 (1990), 398–400.
- [W] L. Winquist, An elementary proof of  $p(11m+6) \equiv 0 \pmod{11}$ , J. Combin. Theory 6 (1969), 56–59.